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3. Find height in 30 years.
about 70ft.
4. Find age for 45ft tall tree.

about 18 years old.

5. Eqoftrendline.

40 Using the two points circled in purple:
(3,10) and (16,40)
slope =2.31 (this represents the tree
30 is growing 2.31 feet per year.
20 D) EQ: y-10=2.31(x-3)
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3rd hour bellwork 3. Length = 110cm
Age =
about 17 years
Length of a snake.
4. Age = 6yrs
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9 52 80 [ X Using the two points
/ circled: (9,60) and
11 75 60 5 (19.120)
12 83 40 m=6
y-60=6(x-9)
20 g becomes: y =6x +6
2 4 6 Age 10 12 the slope tells us that the snake is

growing 6cm per year and the y-int
represents the length of the shake
when it was born.



